
3.39 ÷ 10 = 25.69 ÷ 100 = 0.016 ÷ 1000 =

92.1 ÷ 10 = 9.959 ÷ 10 = 0.01 ÷ 1000 =

2.75 ÷ 10 = 0.006 ÷ 10 = 0.005 ÷ 100 =

35.8 ÷ 10 = 50.5 ÷ 10 = 153.7 ÷ 10 =

31.8 ÷ 10 = 0.38 ÷ 10 = 0.659 ÷ 100 =

0.147 ÷ 100 = 0.919 ÷ 100 = 0.02 ÷ 1000 =

0.42 ÷ 1000 = 4.629 ÷ 1000 = 34.07 ÷ 1000 =

728.4 ÷ 100 = 0.04 ÷ 10 = 0.454 ÷ 1000 =

5.915 ÷ 100 = 5.032 ÷ 100 = 0.009 ÷ 100 =

0.003 ÷ 1000 = 72.1 ÷ 100 = 0.93 ÷ 100 =

6.88 ÷ 100 = 0.004 ÷ 1000 = 9.5 ÷ 1000 =

0.585 ÷ 10 = 625 ÷ 100 = 0.89 ÷ 10 =

76.8 ÷ 100 = 0.007 ÷ 10 = 0.09 ÷ 100 =

6.7 ÷ 100 = 0.012 ÷ 1000 = 0.63 ÷ 1000 =

12.11 ÷ 100 = 0.017 ÷ 1000 = 0.045 ÷ 10 =
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3.39 ÷ 10 = 0.339 25.69 ÷ 100 = 0.2569 0.016 ÷ 1000 = 0.000016

92.1 ÷ 10 = 9.21 9.959 ÷ 10 = 0.9959 0.01 ÷ 1000 = 0.00001

2.75 ÷ 10 = 0.275 0.006 ÷ 10 = 0.0006 0.005 ÷ 100 = 0.00005

35.8 ÷ 10 = 3.58 50.5 ÷ 10 = 5.05 153.7 ÷ 10 = 15.37

31.8 ÷ 10 = 3.18 0.38 ÷ 10 = 0.038 0.659 ÷ 100 = 0.00659

0.147 ÷ 100 = 0.00147 0.919 ÷ 100 = 0.00919 0.02 ÷ 1000 = 0.00002

0.42 ÷ 1000 = 0.00042 4.629 ÷ 1000 = 0.004629 34.07 ÷ 1000 = 0.03407

728.4 ÷ 100 = 7.284 0.04 ÷ 10 = 0.004 0.454 ÷ 1000 = 0.000454

5.915 ÷ 100 = 0.05915 5.032 ÷ 100 = 0.05032 0.009 ÷ 100 = 0.00009

0.003 ÷ 1000 = 0.000003 72.1 ÷ 100 = 0.721 0.93 ÷ 100 = 0.0093

6.88 ÷ 100 = 0.0688 0.004 ÷ 1000 = 0.000004 9.5 ÷ 1000 = 0.0095

0.585 ÷ 10 = 0.0585 625 ÷ 100 = 6.25 0.89 ÷ 10 = 0.089

76.8 ÷ 100 = 0.768 0.007 ÷ 10 = 0.0007 0.09 ÷ 100 = 0.0009

6.7 ÷ 100 = 0.067 0.012 ÷ 1000 = 0.000012 0.63 ÷ 1000 = 0.00063

12.11 ÷ 100 = 0.1211 0.017 ÷ 1000 = 0.000017 0.045 ÷ 10 = 0.0045
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